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Tests of Between-Subjects Effects

o K 15 1 Aduwly i

— —
Source Type lll Sum Mean
of Squares df Square F Sig.
— — —
Corrected 10279.380a 9 1142153 36.537 000
Model
Intercept 98043.522 1 98043.522 3136.389 000
jet 3127.600 2 1563.800 50.026 000
pressure 1698.533 2 B49.267 27.168 .000
jet * pressure 3100.267 4 775.067 24.794 .000
Error 1250.400 40 31.260
Total 133449.000 50
Corrected 11529.780 49
Total
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Source Mean
Type lll Sum Squa
of Squares df re F Sig.
Corrected ﬁndel 36.100a 9 4.011 3.815 .Dl]ﬁ_
Intercept 1028.057 1 1028. | 977.860 000
057
pressure 1.216 2 608 578 570
jet 6.736 2 3.368 3.203 062
pressure * jet 23.349 4 5.837 5.552 .004
Error 21.027 20 1.051
Total 1161.260 30
Corrected Total 57427 29
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